¢ g E e & gt
w1l

a1
(IT5T) (Fradrareies I1e2)
a. A I W
b e CEIIE] 11. S
c faw . 3
d. g v. T
v P Pt 1 2 wartfiren IugH SAC AT
(B) a-II.b-lH,c-l.d-lV

(A) a-Lb-TLc-1Ld-1V

€ a-NLb-1V,c-1,d-1I () a-1V,b-Ic-1,d-1I ¢

(E) HIaE ¥A
5 cefiy offy FEE-ATEAE 82
(A) HHERA Bf =
© (D)
(E) AT W&
3 ﬁnaiwagnqﬁ%,a?aﬁfénﬁ:mmmﬁﬂm
(&) e (B)
©) =W ©®
(B) Faia
4 Where was the World Future Energy Summit 2024 organized?
(A) Paris (B) New Delhi
(D) London

(C) Abu Dhabi
(E) Question not attempted

ey sy St FRTE geE 2024 el STrIfeTd feRam TET?
% el 7

(A) UfE -(B)
(C) 3me (D) w=A
(E) FIgai@wd _
5 India- Japan 5t edition Joint Military Exercise ‘DHARMA GUARDIAN’ commenced in which state of
India?
(A) Rajasthan (B) Tamil Nadu
(C) Himachal Pradesh (D) Andhra Pradesh
(E) Question not attempted
stmgﬁ{waﬂ?ﬁﬂﬂimﬂﬂfmﬁﬂq T 3 o T | 1 o7
(A TeEH (B) dfHeHTg
(€) femmaerwam (D) 3TE W
(B) SAgufta 94
6  Which of the following team emerged champion of the Santosh Trophy (2023-24)?
(A) Manipur (B) Mizoram
(C) Services (D) Goa
(E)  Question not attempted
Fraferfiaa i & i e 2w sl 21 (2023-24) A e 2 )
(Ay g
© wffE @) o
ar~"
E®) swErE T (D)
[P.T.0-

S17] oy ;
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In India General elections for 18th Lok Sabha were completed in how many phases?
A | geff et & fert ST S forart woit i gof 7o
(A) 6 7
© 38 ‘0 (D) 4
(E? Question not auemple&{ﬂqﬂﬁﬁ B {j y LB’S'DO and
If it is given that for two right:angled triangles PQR and ABC, £Lp=25° £LC=25Q7
PR = CA, then which of the T6llowing is true? _f' =CA
#ﬁwﬁmw%%a‘rmﬁmﬁmn@wcﬁ Z£P=125°, LC=125°, £Q = £LB8 90> PR=
1, 3 Fresferfa & 2 det 27 4y
(A) APQR=AACB (m/ﬂ.PQR = ACBA : i Y
(©) APQR = ACAB @) APQR = ABAC :
(E)  Question not &ttcmpleﬁ AR v ’ B
c"qﬁ-t-l ':E]' = i
9 If = cnsecﬂz-j:,th o, -+~f_ is equal to: tf:‘:% o
_x \Ecﬂfﬁ+l \D
afg cosecl y,mwaﬁm& f:j
22 3 .5 ¢
(A) o 0 (B) - ;'y L
© s ;‘f} ” & 0
+ (E)  Question not attemptedy S1afta v L0
10  Ifa=0.1069, then thcvaiuey V!4a2+1—4a+3a is E
ﬂﬁa=ﬂ.1069,?{|ﬁ \"41112 +i.=z4a+3a HAM 2 ™
(A) 21069 : (B) 04655 e
(© 15345 ©f 11069 ™
(E)  Question not attcmplea;l.;( ST ey
11 Pt & sy fafiar g - 0
(A) aﬁwﬁmm{g B) et e :3;
(E) wufayg \0
12 I I Wﬁf{%ﬁﬁﬂ‘%@aﬂfm% ™~
«f i (B) aE B
(C) wfam W D) waft ™~
(B) rafwwa P
13 W%mﬁwﬁmﬁmﬁamg \D
A v (8) N
(C) =« r—-i o,
(E) SufEwy z E
S17] ﬁ / 3 ;:'
™ %in
.'1\.0‘



14 Select the most appropriately matched pair of crops.

(A) Rice - Rabi- Basmati (B) Maize - Rabi - Vijay
(C) Rice- Kharif- Shakii (D)  Wheat - Rabi- Sonara
(E)  Question not attempled
wﬁ%w&mmﬁﬁaﬁﬁqwaﬁaﬁgﬁm
(A) TS - G - e (B) W - et - foormr
(C) <o - @lw . gfs P -l - g
(E) gaf@wy

IS Who classified blood in different groups?
(A) Karl Landsteiner (B)  Louis Pasteur
(C) Robert Koch (D)  Edward Jenner
_(E] Question not attempted
Forer o Y it i e v
(X) el e (B) TEwmEm
(©) T (D) TEEEIW
(E) srgaiawsy

16  Which of the following antibody is found more in mother's milk?
Frfeafiae 3 & wi 35w & e e oty saferave & e s 2
(A) IgD (B) IegG
IeM (D) TIgA
(E)  Question not attempted / 3¥Tafd w1
17  Match List-I with List-II:

List-I List-IT
(Deficiency disease (name)) (Symptoms of the disease)
a. Pellagra I Memory loss s
b. Beri-Beri II.  Weakness in muscles and nerves
c. Scurvy © II  Appearance of dry scales on tongue and skin
d. Riboflavinosis IV.  Bleeding from gums
gt 1w gt -1 & g A
et -1 Tt -1
(aTufar &) (T 3 g
a. e L oo e (i
b, afaEd . e it o geerar
c. @l : L Sfivy 31T e o 3y reent ot forard 2 -
d,  UEEEEEaE IV. WEgi 8w
Choose the most appropriate answer from the options given below:
et fow o farerent @ wafirr 3wy 3w g ;
(A) a-ILb-Hlc-1,d-1V (B) a-IV,b-Lc-II,d-1II
(C) a-Lb-1,c-1I,d-1V DY a-ULb-ILc-1v,d-1

(E)  Question not attempted / 3Tafed wur

§17] ﬁ 4 [ P.T.O.
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19

20

21

19
. ‘Sed on
The fourth edition of the ‘Shanghai Cooperation Organization (SCO) Startup Forum: was organ!
March 2024 in

(A) New Delhi (B) Moscow
(C) Bishkek (D) Shanghai
(E)  Question not attempted
TreTE Tt g (oW H ) WSS BRE 1 ST SR 19 6T, 2024aﬁ?l_____*J-‘f»‘m'*‘fﬁ:“"“ﬁ'mﬂmT
7]
(A7 =i feeeh (B) HiEH
(©) Frm (D) TS
(E) srqafawn
Match List-I with List-I1
List-I (Country) List-II (Position of medals tally
in Paris Olympics 2024)
a,  China i 3
b.  Britain i, 4"
c. Netherlands iii, 2"
d. USA iv. 1%
Treft-1 26 fererr get-11 3wy hifsg
-1 (37) w11 (A aiteifaes 2024
e et ferfa)
a == 1 e
b fores i =TT
c. ﬁﬁlﬁ?ajﬁ' iii "qf\FITI’
d. FuEe iv. g
Choose the meost appropriate option from below:
e & wad Jug fmed 1 =7 A
(A) a-ii, b-i, c-iv, d-iii (B) a-iii, b-iv, c-ii, d-i
(&5 a-i, b-ii, c-iii, d-iv (D) a-iv, bAiii, c-i, d-ii

(E) Question not attempted / SR W

Who became the second Indian to win a gold medal at the Asian Marathan Championship in 20249
(A) Srinu Bugatha (B) Man Singh

(C) GopiT (D) Kartik Kumar

(E)  Question not attempted

Aot ST 2024 3 Tl g S e g I w

(p0  EE T ®) = fie

(C) Tt (D) ifefah FAm

(B) eiawA

Which country has emerged as the world’s second largest producer of Mobile phones?
(A) Germany (B) India

(C) United States (D) Vietnam

(E) Question not attempted

T 231 ST o G HE ST HISTe B IEe 431 A I 7
f S , . (B W
(C) TSR (D) forraam

(E) a9

S17 5
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23

Choose the mosy appropriate reported form of the sentence given:
He said to us, “Don’t walk on ice; it isn't safe.”

He warned us not to walk on ice as it wasn’t safe. \0
(B) He ordere;lrl_is not to walked on ice as it weren’t safe. b5
(C) Hetold us:}z avoid walking on ice as it isn't safe. Lf?
(D)  He said nut\iilo walk on ice as its not safe. E
(E)  Question agt attempted i
Choose the mostappropriate option to fill in the blanks: —
I her " along time, __ she was a child. v
knew, x, since (B)  have known, for, since
(C)  was knowing, since, since (D)  know, since, for
(E)  Question A6t attempted =t

Read the passage and ®iswer the questions that follow h}:'chuosing the appropriate answer : (Q. 24 to 28)

24

Once we have se!lﬁ{ed on a perspective, we close off with one line of thotight. Certain kinds of ideas occur to
us, but only thnsiggj"ds and no others. What if the crippled man who invérited the motorized cart had defined
his problem as, ‘I‘!PW to occupy my time while lying in bed?” rather thﬁ“Haw to get out of bed and move
around the house?! o
Leonardo Da Vipeij believed that to gain knowledge about the form of problems, you begin by approaching
the problem on its own terms. He felt the first way he looked at a problem was too biased towards his usual
way of seeing tl-u‘ﬂ;s. He would restructure his problem by looking at from one perspective and move to
another perspecti.y‘e and still another. With each move, his understanding would deepen and he would begin
to understand thef@ssence of the problem. Da Vinci discovered that genius often comes from finding a new
perspective that fid'one else has taken. o)
Albert Einstein »‘rgé once asked what the difference was between him andihe average person. He said that if
you asked the average person to find a needle in the haystack, the persobh™would stop when he or she found a
needle. He, on tﬁaothcr hand, would tear through the entire haystack 1tibkjng for all the possible needles.
With creative Lh?;fdng, one generates as many alternative approaches as one can,
Most of us have been educated to think exclusively which means we thinkin deficit by focusing our attention
on specific infotrmation and excluding all else. In these instances, exglilsive thinking leads us to neglect
potentially imp t pieces of the puzzle. Exclusive thinking dncsn’i«%erely inhibit irrelevant facts and
perceptions. It can.also smother the imagination. =
Creative thinkings inclusive thinking. You consider the least obvious atéﬂ ell as the most likely approaches,
and you look fog-different ways to look at the problem. It is the willing'[ng.s to explore all approaches that is
important, evenfifter one has found a promising one. ol
Identify statemefits which are true with respect to the passage:

a. Our settled pers-pe:?iive towards a problem makes us focus one line of thought only.

b. Lebfiardo Da Vinci always solved a problem in the first alt&i;ppt .

c. Albert .Emslc.:m would look for as many alternatives as he Eﬂlld to solve a ﬁmhlcm.

d. Ex!é!swe thinking enhances crealivity and imagination, it
Choose the mﬂs(ﬁyprapﬂ'a!e answer from the options given below: 0
(A) bandcon ‘(B{H aand ¢ only v

(C) candd D{lly (D) aandb Dnlyh
(E)  Question pdt attempted L

Sl?] ﬁ 6 [P-Too'
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| 26

27

28

29

Which of the following statements are not true with respect to the passage?

a With creative thinking, one generates as many alternative approaches as one can-

b.  Exclusive thinking leads us to the important pieces of the puzzle.

c.  Inclusive thinking makes one look for different ways to look at the problem.

d.  Exclusive thinking makes us broaden our attention and look for potential alternatives.
e. Creativity and inclusive approach go hand in hand.

Choose the maost appropriate answer from the options given below:
(A) banddonly (B) candeonly
( d and a only (D) aand e only
(E) Question not attempted
The features that define creative thinking are:
a. Multi dimensional approach
b. Willingness to explore
¥ Biased approach
d. Not easily satisfied
Choose the most appropriate answer from the options given below:
(A) b,canddonly ._/GB’Y- a, band d only
(C) a,canddonly (D) a,bandconly
(E) Question not attempted
According to the passage, the most important thing with respect to solving a problem is:
(A) To change our education system (B) The willingness to explore all alternatives
(C) To be focused with one line of thought ' Learn to look for facts
(E) Question not attempted '
Choose the Antonym of the word SURPLUS from the options given:
(A) Inhibit (B) Biased
(C) Deficit }Bf‘ Smother
(E) Question not attempted

The ancient name of Jaisalmer was

(A) Mand (B) Hadoti
(C) Shekhawati (D) Vagad
(E) Question not attempted

SRR ST T AT -

y uiE ) e
(c) VramEr (D) A
() FEERAEA




30 Select the incorrect statement about subtropical mountain foress, (Choose the most appropriate option from
below:)

(A)
(B)

Subtropical Mountain forests are found only in Mount Abu region in Rajasthan,
In 111-:E¢}1'nrests. greenery is available permanently,

(©) Thcs-_\'grcsts can be found in Sirohi which is situated in Raj{s?(hun

(D) Thesq fqrests are found only in Rajasthan and Uttar Prndcs@;

(E)  Question not attempted i

ST fesieftel el &t 3 it 3 vy s b (e 3 2 gt 3w e )
(A) mﬁ&ﬁhﬁﬁmﬁw%nﬁzmﬁﬁmmﬁl

B) T el vl T i IvEy T 3

P,
(©) Tﬁ"ﬂ?‘ﬁlﬂﬁﬁmmﬁ,vﬁ%wﬁ‘&ﬂa%l i
9}!’ T8 I hAe USRI T S e 3 qre s )
(E) rwfed s

1 ¢)
31 Which of the following is the biggest geographical region ( area wis€) of Rajasthan?

(A) Arav i egion (B) Westerﬁrcgescn plain region
(©) Easteryplain region (D) Semi d@{cgiun
(E) Questior not attempted

{
ﬁwﬁrﬁaﬁﬁ%mmwﬁwﬁﬁméﬂ(m#mﬁam@

(A) swEede afert wepreta e &
(C) e farit & (D) 37y &
(E) Fgafasa 0
32  Whichof tthollowing Indian states/union territory has the highest:number of wildlife sancturies?
(A) West'Bingal (B) Andamhfand Nicobar Islands
(©) Lajts]‘iﬁwmp (D)

Himachal'Pradesh
(E) Questiop not attempted (4

P 8 e 3 o e e e i s i e s 82

(A) wfem et ®f stea S et g wg
(C) ==dT

(D) femmae waw
(E) ergaigua &
33 Which of thi€ollowing is shortcut command for print in MS Office?
@Eﬂlﬂﬁtﬁifﬁ?%ﬁﬂﬁﬁﬁﬁﬁhmmmy 1)
(A) Shifi ( Ctrl + Pt
(C) Al +',C,}II +P ©) Alt+p\0)
(E)  Question not attempted / 31wfta wy v

" - # P‘ 1
34 There is certain relationship between the two terms to the left of +5agd the same relationship exists bete"

the two terms to its right. Then find which option would replace the question mark?

i ar.amﬁmqﬁmﬂ:m‘fﬁ#ﬁu%aﬂwﬁmﬁmﬁmﬁtwwmimmmﬁw
fas % warrar a7 ur e st waar iy o

GKLP: QdGz. i AEF) 7 1)

(A) KLPZh (B) MOPTH

(C) MOTRy

D opt D)
(E) Quegtion not attempted / S]Iﬂ'ﬂﬁ ey m 1

S17] ﬁ i 8 W
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35  Choose the box that is similar tojthe box formed from the given sheet of paper.
Tt <61 4 1t ¥t () | S ST T = i
7 L0)
% / ::11
o
Lon

[--..
O r={

+

Lo
D i
L
Choose the appropriate option given below:

= R o s EEsr AT L0

. &
(A) f:‘l ®)
=]
© |« < @ | #

36 Frefafaa § o= Tevaras gaTe-

(C) 3™ E: (D) &
(B) gt e
37 Frefafaa & sifvamss @ ad o
) fE a wf
() @ el (D) o
(E) iaia 94 o
“
38 E[Eﬁ’-l ﬁﬁ?ﬁ'-]’l '&Eﬁﬁﬂﬂﬁﬁlﬁﬁ
Heft-1 - -1
(amar) (Fram)
o THIAEETH :g L e foe
b AN 0 W o
c.  Tarugen foradt & fratet agarar ) . s famr
d. qE w9 F491) :ﬂ V. W e
3y fepima et # @ waifies 0w 3o A :
(m/ﬁ s TV b T oe L= T v (B) a-1V,b-1lLc-1,d-1
() a-lLb-1V,c-1d-1I (D) a-ILb-Le-MLd-1v
(B) IEREwA

171 g ’
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40

41

42

Take the given statements 1o be true, even if they seem to be at variance from commonly known facts, Thep
decide which of (le given conclusion logically follows from the given statements:
Statements: No magazine is newspaper.
Some newspapers are books,
All books are spoons,
Conclusions:
L. Some magazines are books,
1. Some newspapers are spoons.
(A)  Only conclusion 1T follows,
(B) Both conclusions [ and [[ follows,
(C)  Neither conclusion 1 nor conelusion 11 follows.
(D)  Only conclusion [ follows,
(E)  Question not attempted

ﬁ\!’lﬁ.*ﬂﬁﬁmnﬁmaﬁm: maﬁ%aﬁwﬁmﬁaﬁﬁﬁ,wﬁﬁqwmﬁﬁmm

Pt =57 ol
T ﬂ"
1§ it wfe w2 @7@
T THTER- Teaeh & x
Tt s T ) b
Frong:
L Fo qfemd gerd &)
1. T3 99NN - e 9me
M#ﬁ%ﬁﬁé:lm@mma (B) 3 e 1wt 11 s

(C) ??ﬁﬁ'ﬁﬁlaﬂt:{ﬁﬁﬁﬁﬁfﬂaﬁmmﬁl (D) %aaﬁmimgamm%]
(E) wgafawa '
ﬁqﬁﬁaﬁﬁ'ﬁaﬁaﬁ'mmmmwa h)/

(A) =99 -8 ( HIEeT - FFeT

(©) w9z -ereft (D) &rft- wiE

(E) wafeawa |
Chief Minister Corona Sahayata Yojana is operated in the entire Rajasthan since
(A)  April 2021 (B) May 202]

(C)  June 2021 (D)  March 2021

(E)  Question not attempted
Wﬂaﬁmmﬁw@mﬁmﬁw@

&7 st 202) (B) #§2021

(C)  F72021 (D) w2021

(E)  sufa gy .

BHADLA SOLAR PARK is located in: '

(A)  Jodhpur (B)  Udaipur

(C)  Bikaner (D) Jaipur

(E) " Question not attempted

TSR e vy et ¢ T T fea

(A) (B)

1] (D) s

(E) srgafa

10 P.T.O.
S517] ﬁ [




i 3 " . . i ) p i in,
As cited in the ancient text of Rajasthan that fort of Rajasthan where soldiers who were skilled in the plant &

and strategy of wars, lived in was called as — (Choose the most appropriate option from below:)

(A)  Sainya Durg ':_Dl (B)  Parikh Durg et

(C)  Paaridh Durg u\’t} (D)  Sahay Durg Iy

(E)  Question not nltcmp!?d j -
W%W%Wﬁﬁﬁm%mﬂmaﬁmmﬁﬁaﬂmaﬂﬁmﬂﬁmﬁﬁﬁ“m "
wﬁrﬂaﬂmmm—(ﬁwﬁ%uﬂmﬁﬁm?ﬁ:) [~

of g ” ®) i gt -

(E) raiawd B

People of which Civilizatidd buried their dead with jewellery and ornaments?  f
!

(A) Kalibangan E (B) Ahad 0
(C) Bagor - (D) Gilund ':;:-
(E)  Question not attempted "'{:
Fope T2 35 ST ST Y[ ST ok AT EHT A7 Yy
wﬂ P~ ) TS -4
AT v W) s
(E) gaie wd Ty
Karpur Chand Kulish wasﬁe founder of which newspaper? gy
(A) PunjabKesari e~ (B) Rajasthan Kesari Ef i
(C) Rajasthan Patrika e (D) Dainik Jagran 1}}
(E) Question not attempfed ol
ot iz e e EATER e  EeR A7 [
a) wma¥a T (B) TSR et o
(C) T afaE i gy &f R

(E) Hgaf@a w4 o

The spread of which revoftmun enabled India to achieve self sufficiency in food gritins?

(A) Yellow Revolution (B) Blue Revolution i
(C) White Revolution ey (D) Green Revolution :;:;
(E) _ Question not attempted

Foe et 5 T ST S TR ST W BT 2 l':j
() el wifa [~ _ ) el wifa ol
() §EE Fia s wf e

(E) AgAiE 94 9
Planning Commission waﬁel'up under the Chairmanship of- L
(A) President Ts) (B) Vice President En
(C) Chief Minister st (D) Prime Minister ‘:g
(E) Question not attempldd iy
fmmﬁm#?rnnwfmnﬁlam&mﬁﬂhﬂftﬂ? s
(A) g 5t () Fwsfy il

© el e gof R

11
S17 ] ﬁ I‘P‘T-DI



48 To protect goods produced in India from imports, Government made use of-
(A)  Tariffs (B)  Both Quotas and Tariffs
(C)  Neither Quotas nor TarifTs (D)  Quotas
(E)  Question not attempted

m&mﬁamﬁaﬁaﬁrmﬁaﬂﬁéﬁmmﬁﬁmmmw

@ we ) e she g
SO AR Ehr 7 g (D) Fwr
(B)  swfea war
49 Thewa Art is associated with which of the following areas of Rajasthan?
(A)  Jaipur (B) Pratapgarh
(C) Jhalawar (D) Churu
(E)  Question not attempted
TSTEIT 8 S et o & 4 Py Sy & wisifir 29
(A) S ® s
(€) wrmErE (D) =&
(E) sIHafawy
50  “Mahi Bajaj Sagar Project” is a joint Venture of which of the following Indian states?
(A) Madhya Pradesh and Gujarat (B) Rajasthan and Gujarat
(C) Madhya Pradesh and Punjab (D) Rajasthan and Madhya Pradesh

(E)  Question not attempted

“HTET STt AR afEisT R i @ e o it = Wi v &2

(A) mnﬁwaﬁrm TSR S T
(©) mu&maﬂtm{ & uamaﬂtmm\/
(E) et s

51  Given below are two statements:
Statement (I): Alluvial soil is found in Western desert plains of Rajucdian.
Statement (II): This soil contains enough quantity of Nitrogen but lacks in Potash i
In light of the above statements,choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are false,
(B) Statement (I) is true but Statement (II) is false.
(C) Statement (I) is false but Statement (II) is true,
(D) Both Statement (I) and Statement (1) are true.
(E) Question not attempted
e 2 g g MU E
YT - | ; STl A TSI 3 St weeerefiay fam & ard seft &
e - 1 » e o AT i e 4 herer e o e o e vy
S e 5 i e Pt 4 e v v
K5 i dyr ey (B) T | wet R g wom 11T )
(C) = 1 TTerd & fom T 11wt & (D) % 1 3K e 11 2T e 3

(E) sraf@y4
S17) s 12 [PTO:
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33

54

55

“Namcha Barwa Peak” is located in which of the following regions of the Himalayas?

(A) The Arunachal Himalayas (B) The Himachal and Uttarakhand Himalaya®
(C)  Kashmir Himalayas (D) The Darjeeling and Sikkim Himalayas

(E) Question not attempted

s e frae faarew & Fafofiaa 58 frg &30 aafem 20

(A) 3T feaed By~ femrae s swrds femmed
(C) o femmer (D) arffeT ¥ fafes femed
(E) ¥gaftaua

- . . - . . most
‘Pangong Tso’ lake is situated in which of the following sub divisions of the Himalayas? (Choos¢ the 1

appropriate option from below:)

(A) Darjiling and Sikkim Himalayas

(B) Arunachal Himalayas

(C) Kashmir/ Ladakh or Northwestern Himalayas
(D) Himachal and Uttarakhand Himalayas

(E) Question not attempted

et et gier femrer 3 Rt § & R sude § urd o 32 (e 3 & gl 3w fsed T4

oy arfsifer 3 fafrrn femes (B) arEvmEe femre
(C) it/ wrera ar Iat ufyH feare (D) Tewree i sawEe fearea
(E) i@ ws

Which is not a function of the State Human Rights Commission? (Choose the most appropriate option from

below:)
(A) To discourage the efforts of Non-Governmental Organizations working in the field of Human Rights.

(B) To visit jails and study the living condition of inmates.

(C) To spread human rights literacy among the people.

(D) To undertake and promote research in the field of Human Rights.

(E) Question not attempted : .

o AR S e s e &2 (et 3 & v v e )
(XS e v vl el W 3 S A e

(B) i o Y T 3 R oy fi feufer T srera

(C) it 3 el HITaTerehI SIETCe i SEr

(D) eI 3 AT STE ST S ST <l

(E) IFuiaud

By which Indian Constitutional Amendment the ‘Gram Sabha’ has been given a Constitutiong) S
(A) ?3rd (B} ?4'h
© 75" (D 72

(E) Question not attempted

fra d wﬁmmmmaﬁﬁﬂuﬁmaﬁ‘iﬁmw%?
() 73t (B) 74at
() 75af (D) 728t
(E) 3aia o4

tatug?

13
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57

59

Which of t[‘s@ful]nwing words has been added to the Preamble by the 42" Constitutional Amendment?
(A)  Equality (B)  Integrity 'O

© Fmt,},-ﬂ- ity (D) Liberty ¥
(E) Questlpn not attempted ol

ﬁﬂﬁ!ﬁﬂﬂ%ﬁaﬁqmmu@mﬁmmnﬁqum,'rw?q

(A) WHHaT ) FEE
(C) g (D) T [
(E) rgafawy -
Which of the following is a violation of Fundamental Rights in India? (Choose the most appropriate option
from belowry w
(A) Nolkﬁying minimum wages to workers (B) Banning thé;uw of loudspeaker after 9 pm
(C) Dcli&ﬁﬁng a speech (D) Banning of tobacco products
(E)  Question not attempted R, i'
q

ﬁﬁﬁ:mtﬁ%mmﬁmmmé?(ﬁnﬁ%

39 fersed )
XS =W STl ST T F T (B) mgaﬁr%mmmmm

(C} T e (D) v S H SR S

) Sl vE
The: Preamble of the Indian Constitution starts with the phrase Lo
(A) Withfthe name of God..... (B) India a Sovereign, socialist.....
(C) To secure all citizen of India..... (D) “We the people of India”.....
(E) Queg'gi’nn not attempted :d!
T HHT i s e e @ g e fl
(A) w9 '_qm%m'ar ..... (B) R Th THHHI, THISEMRL.....
(C)  RA o Teft AT 1 Hea..... @ T
(E) g

In 1983,

ich of the following Commission/Committee was app?gted by the Central Government to

examine an_gl'fc‘-'iew the Centre-State relations in all spheres and recommend appropriate changes?
(A) Sarkaria Commission

(B) RajamanniprCommittee

(C)  Ashbk!Mehta Commission (D) Hanumanfhifiiya Commission
(E)  Questibn not attempted o
1983 &, mﬁ‘ﬁmﬁﬁamaaﬁﬁmﬁtuﬁmmﬁaﬂwﬁmqﬁmﬁﬁﬁﬁmﬁnm%mmm
s g ﬁﬁa srarmrafafa 4 frgfn & md ot

B) TR ER
(C) % AT (D) BW “FE-[
(E)  sryefrg

Chairman aﬁl{njus!han Public Service Commission is appointed by \“?ith one of the following?
(A)  Govkthor (B)  Chief Justigg of High Court

(C)  Chairphan UPSC (D)  Chief Miriigter
(E)  Quebiion not attempted

=
T ) sram o svouet i frgfes fomfefir i @ fm & e Sromd &
M, T (13) S Rrarerd ¥ wyed =i
() sromg g om (D) e
(E) wrafawa

S17] ﬁ 14

[ P.T.O.
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62

63

65

S17] iy

Which is the dialect of Kota, Bundi and Jhalawar region of Rajasthan?

(Choose the most appropriate option from below:)

(A) Malvi (B)
(C) Bhili (D)
(E) Question not attempted

T o e, i S TS & oY et

Hadoti
Wagadi

(ﬁqﬁﬁwﬁmﬁfﬂ'ﬁ“ﬁ ) m/
(A) Wt EGI]
(©€) et (D) =T
(E) 3¥aia Wi
In Rajasthan Bichchiyo, Lalar, Nokhila and Shikhar are:-
(A) Folk Songs (B) Folk Dances
(C) Playing Instruments (D) Folk Dramas
(E) Question not attempted
e, e iR firat Tere & #

SIERIIG] (B) w&HIA
(C) dmEEd (D) WS
(E) rafaysd
Who is worshipped as a warrior with spear in hand, or as a snake demigod in Rajasthan?
(A) Gogaji (B) Pabuji
(C) Devnarayan ji (D) Ramdevji
(E) Question not attempted

ﬁmmﬁmﬁwwﬁm%mﬁmaﬁm%mﬁ@aﬁﬁ?

i it ®) I
(C) FEarrEvT St (D) T A
(BE) 7afaws
Where is marble dumping yard in Rajasthan?
(A) . Bundi (B) Kumbhalgarh
(C) Bikaner (D) Kishangarh
(E) Question not attempted
T 3 Hrefer i aré el 87
(A) (B) T
(C) wFr 40 fg
(E) afyy

Mukhyamantri Laghu Vanijyik Vahan Swarojgar Yojna in Rajasthan has been notified on:

(B)

(A) 11 October 2022
(C) 19 December 2023 (D)
(E)  Question not attempted

15 November 2023
12 December 2021

mﬁwﬁmﬁmmmmﬁmmmwh

(A) 1132022
() 19 fewat 2023 (,a(
(E) Agaf@aws

15

15 qE=T 2023
12 fEEET 2021



66 ‘?E,E'mq?ﬁﬁgwﬁﬁﬁﬁww%- / b
@), e gy ) sy & sha
(9)5, -3t aftadT st (D) zg%rﬁm
(B) SRa v 0
67 Wﬁﬁmﬁﬁaﬁmﬁmw% ol
" (B) sty
’@/ HEI (D) @&TH
aﬂﬁ!tﬂ'ﬂ'ﬂ

68 A ray of light is incident ona

_ plane mirror norm i inci
n\ﬂ(ectmn e al to its surface. The angle of incidence and the angle of

-} 900 o L} - I:r
Eg'}l} s .'[;E r;:spcc-tl vely (B)  07490° respectively
rY Iespestively (D)  90°'90° respectively
(B)' Question not attempted e

E!WTOTT%&W%WWW%%W@%%mﬁsmaﬁwaﬂtwﬁqﬁmaﬁ“-
/(E/wm. ¢ (B) FIY: 0°, 90°

FREIT: 0°, 0° - 90°. 90°
(E'_f ol (D)  HHE: 90°, 90

. . § !
69 Two identical prisms P, and P, are placed as shown in the ﬁjgéﬁre. A narrow beam of white light is incident

u%[ass prism Py as shown in the figure. The emergent beam

’('

pm the prism P, falls on the second prism P,.
tains;

smt

resulting emergent beam from prism P; on the screen con

%
O
4
i~
4
A O
({.‘b Spectrum of light as VIBGYOR form bottom to top onthe screen
(B): Beam of white light on the screen Ly
(@) No light is obtained on the screen =t

(DY Spectrum of light as VIBGYOR form top to bottom oft'the screen
(EY’ Question not attempted )

a—da’qqﬁﬁqp,ﬁtpzaﬁsﬁwwm%ﬁmﬁaﬁﬁ@%m%}@ﬁﬂﬁ%ﬁmmﬁw@ ¥
3 P, g aATafer e ST & S o o a4 i B < Far ot R p, 0 et 31 v

furreft ferroTdet Sit R WT agdt & IHH - O
P, IS 1

{9]

g <

v o

A r~

4 ™~
(K)o qr e & YL, TE & WA VIBGYOR ¥ F9 7

(BY W@ qx & W o ferorgs
(C) e qT et WahreT Fef g
D) qr S & A, T FHagH VIBGYOR & w9 i

(E) i 94
S17] ﬁ 16 " [P.T.O.
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72

13

T4

817] 17 o
a2 ' aape AR

L

) : from
The angles of elevation:gfj the top of a tower from two points A and B at distanee p and q respectively;
the base of tower and inthe same straight line with it are complimentary. Thc._}écighl of the tower 15

t{ﬂ:rﬁqr(a?anmt%érf%%aﬁz\ AR B, S s A Wﬁmﬂ%ﬁ?@ﬁﬁ-}ﬂﬂaﬁmajm%ﬁ

% I IO G B AT AR S O
2 i )
@A) Vra ~ B)  (p)? 5,

©r pla 1 D) P4 ol
(E)  Question not attempted / 37T w4
If the lengths of diagonals of two squares are in the ratio 4:7, then the ratio of their areas is:

e i o T g 479, 5 e s R < >

(A) 16:49 e (B) 343 !I} A A
© 21 w0 o & < 2 9B
(}f

X
o

! ()

(E)  Question not attempted / AT ¥ ; uk—ji ){'{ =
Select the incorrectly niatched pair of biosphere reserve and its region. i~ .
(A) Thar Desert - Ra_‘f."&."s'th&n (B) Kanha - Madhya Pradesh, Uttar Pradesh
(C) Manas - Assam : _ (D) Nilgiri - Karnataka, Kerala
(E) Question not attethpted : o

g foard aur Haﬁlir & WHT SIS T =T Hi =

{ i
T D FrTe R, mf_sr@w

(Y™ g T _
QL eSO D) FfiAe, 3,
(E) igita wa i . .
Select the incorrect statemient about the genetic code.

(A) 61 codons code for amino acids.

(B) UUU code for phenylalanine. _

{C) AUG only acts as ﬁpitiétor codon and has no other function.
(D)  The codon s trip]et,

(E)  Question not attempted

s 3 (Ao ) e e e g

(A) 61 Frem T st o forg Feeifiaa F &

(B) UUU frergents 3 fer Feerad T 8

17164546 27164546 171

(C)  AUG %aa i FIE ¥ T 1 FT T 8 THH 3T F1S 1 Tet
(D) T vz (PryFrn &1

(E) raftaag <

Which of the following"ilrogenous base is not a component of DNA?

(A) Cytosine Y (B) Adenine

(C) Guanine sl (D)  Uracil

(E)  Question not attempted
mﬁ&#mmwimﬁwﬂﬂmm

(A)  wrEErd (B)

(C) T ' @y gifeer

(E) orqufa ug



75  Whatis “Fly in” in MS power point?
(A) Page design (B)
(C) System command
(E)  Question not attempted

Animation effect
(D) Colour scheme

O G TS 3 e (Fly) e
(A) O ey fh')/ ufi g
€ Ta=awae (D) wewEhm
(E) ogaftaws

76  Which of the following statements is NOT true about floppy disk?

(A) Dataecan only be read or write when write protect notch is closed or covered.

(B)  Floppy disks are made up of Mylar Plastic,

(C©) Mylar Plastic surface is coated with iron oxide (magnetic substance).
(D) On_ly 1.44 MB can be stored in some versions,

(E) Question not attempted

J %W%ﬂﬁﬁﬁnﬁ%aﬁ%ﬁqmmmﬂ%?
ﬁ%mﬁ%ﬁamwm%mmm%mwsﬁ%mﬁﬁﬁammwél
B i fem e v & el e
(@), wreerc e e e oS (g e & S
T TR 8 ST 1.44 THsh € s e s aear 2

(B) raftawy
77  Ethanoic acid reacts with carbonates to form -
(A) Salt, carbon dioxide and water only (B) Salt, ethane and water only
(C) salt and water only (D)  Salt,nitrogen dioxide and water only

(E)  Question not attempted
TS 3TVt FTRTET o WY AT F5 7T & -
(A) Hae TE. FTE SRS AT (B) Faret oaor, wie Sfiv we

(C)  Fae T ST (B~ Sheret T, TP SrgaiRTES S
(E) Aguita v
78  The property of carbon which is responsible for the formation of long chains is called:
(A) Sublimation (B) Carbonation
(C) Hydrogenation (D) Catenation

(E) Question not attempted
e o7 o T it vt ZEend s & o St 2, e 8
(A) Iefarer (FecfiT) (B) FErE |
(€) ErgrT Oy ¥R (shaem)
(E) srgaftayd

79 Electrolysis of dilute aqueous NaCl solution was carried out by passing
required to liberate 0.02 mol of hydrogen gas at the cathode is :

] et Nacl forerees a1 Frega-srawest 20 e affare v srnfe sk e ) Sreive e et e 3 0.02

20 milliampere current. The time

ﬁaaﬁgmm%ﬁqaﬂ%mwwa-
(A) 28.95x10%s (B) 193x10%g
(C) 38.6x10%s (D)  9.65x 10%s

(E) Question not attempted / 3wl 9%

817 ﬁ 18 [ P.T.O-



80 ‘ﬁ@ﬁﬁﬁﬁ‘?ﬁm%%ﬁﬁmﬁ.
(A) TR o (B)

oL
(©) o T (D) gﬁf&r\// W
(E) FAR@RE S

s Z@wwﬁw: TR o
ikl =~ (B) et O
© s (D) fremm 2%

(E) i v il
g 153 T I THTaT e e T i -

(A) I - ATEE :}‘-J ®) wr-mt Y o
(Q T - F (D) 1T - T &
E) sgeRays DO et
83 WW‘Vﬂ]id’%W%ﬁmﬁ% *1;
(A) g o ®) 89 r‘
© I farfermr=a i

() oufmws O

84 Choose the most appgﬁ;}n‘um English translation of the given sentence : j,’f
% 7 foramar =4t gty =5
(A) The book was totn by Rudra why? (B) Why tear the book, R\i_:};éa?
Why did Rud.r%ﬁ*ar the book? (D) Why the book was tnr'nf_?y Rudra?
(E)  Question not attempted i-"
85  Choose the most appropriate option to fill in the blanks: ';:!
Do you know L& in London? Yes, my friend Arun lives near London. But in case he js
out of town, T will hai?”’:;' to go. L
anyone, nowhei‘g-. nothing ~ (B) anybody, SUTﬂ'-‘WhErE,:‘ijlﬁwhere
(C) nobody, anywﬁé?e, something (D) someone, X, st}mewhe:f%{?
(E)  Question not af E;'nptcd : D
8  Choose the most app;q}n‘d!e option to complete the sentence. i?:j :

In an official letter the ‘subject’ is ____-'m’/ . "
(A) stretched and thf3vant ¢ brief, clear and relevant

(€) vague and prm‘?ﬁt (D) aslongas possible ¢}

(E) " Question not atigmpted :ﬁ;

8 Choose the most appropriate word to complete the given sentence: o
I was advised not to [bier the streets afler sunset. i
ﬁfL for E:l taﬂﬁj)'lh -
Jﬁ(v to about r~

i

(E) " Question not attempted i

S17) 19
ﬁ [ PTg

| — e e



89

90

91

92

93

Match List.1 with List-I1
List-I

List-IT
& Munich is a large city the south of Germany. I at
b, Were there many people the concert on Friday? 1. during
¢ Weshouldn't speak eating, I in
d. We didn't speak the meal. IV. while

Choose the mogy appropriate answer from th

e options given below:
(A) a-Ib-1v,c-mpq-1

(B) a-Lb-I,ec-II,d-1V

© a-1v,b-mLc-1 4.7 NS a-lbeLe-v,d-m o
(E)  Question not attempted

Choose the word closest in meaning to the underlined word:

People thronged 1o pay homage to the departed leader.
(A) obedience

tribute
(93] alienation

(D)  humility
(E)  Question not attempted

Choose the word which is similar in meaning to RELINQUISH
(A) offensive

abandon

(B) persist

(D) residue
(E) Question not attempted

When the minute hand covers a distance of 1 hr 25 min, then what is the angular distance covered by it?

W e figd 1 der2s ﬁ%ﬁraﬁmw%ﬁmﬁamw#waﬁvﬁq@ww
510° (B) 480°
(C) 450° (D) 375°

(E)  Question not attempted / 37w v

If ‘MEDICAL’ is written as ‘DEMILAC” in a certain code language, then how is ‘COMPILE’ written in th

code?
af “MEDICAL’ %1 T #1€ 19T # ‘DEMILAC’ @ s, &t *COMPILE" 1 30 e & 3 ferr sem
(4) MOCQELL (B) OMCPILE _
(42 MOCPELI (D) MOCPELO
(E)  Question not attempted / STafa wsr
i | 1 o o
Ktlpgeskienn 1+2 o 14243 " 1+2+43+4 * .oy then sum of its infinite terms is:

1 | -y
aﬁms;l+f§+1+2+3+l+z+3+4

....... . & AofY 3 e i ey e

1 ® 3

; 1

D) 3

© 2 2
(E) Question not attempted / mgaﬂ?r Be M Q C FE LE

S17] i3 20 [P.T.0.




At e B
Yo W

.6. FilY
. . in ratio © 5:6.
94 Two numbers are in ratio of 21:26. If 8 is added to each number, then new numbers oy
the ratio of numbers, if 2 is subtracted from each number, qﬁu@ﬁ H’@’ﬂﬁ
a HEaTd 21:26 % 9§ 8 7T w1 g SitgT ST, it 7 Tl # ST 5:6 2 AT
2 2T ST it AT T S S Q,Lj%
(A) 14 (B) 4:5 - A 3
(O—T8:25 ' (D) 2:3
(E)  Question not attempted / ST W o ent ?
95 A shopkeeper bought 6 articles for ¥ 5 and sold them at 4 articles for Z 6. Then what is his gain pemaﬂT'{gﬂ
mga;mnﬁaa@i;ﬁﬁ@ﬂawa%?sﬁmqaﬁ%; Foem et T, SR AT ST -
(A) 65% By 72% % _;5,9 <
(©) 80% D) 29% "G L
_ (E)  Question not attempted / ST wer 0 '8 \
96 The point A (13, 18), B (-5, 10), C (-13, -8) and D (5, 0) taken in that order are the verticesofa - ‘_G_i\da
(A) Trapezium (B) Square 3
(C) Rhombus (D) Rectangle
(E) Question not attempted .
I A (13,18), B (-5, 10), C (-13, -8) W D (5, 0) S st o oy w3y o i &
(A)  wHelT S ®B) i Z é'
sof e ©) s .
(E) rafawsr C \1
97  Total surface area of cube is numerically equal to the volume of the cube, then find the diagonal of cu_l:i?;bz
(A) 63 units (B) /3 units RE—
(C) 243 units (D) 6 units
(E)  Question not attempted
U U 1 el JEIT Wmﬁmamwm#m%w%ﬁmmﬁqﬁmwl
(A) 63 TTE B) 3w
& 245 v ©) 6w
(E) oyqufaws
% Four players A, B, C and D are standing in a field in such a way that B is (q Eastof A, (;
A and D is to North of A. D is standing in which direction of B? P B0 the South of
(A) North (B) North-West
(©)  South (D) West
(E) " Question not attempted
TRRaET A, B, C v D Wt e e A AT EFAT T B, Aoy
LT N — Ay
o e (B) Iwe-ufiy . Dy
© oy e D :
37 mﬁ) e 2 ?—7 b
C [
P-T,Q‘

k e



[ I

99  Find the number of triangles in the given figures:

2t 1ré i 3 Brst 1 HEAT SR
< i !;T
u L
—— t
(A) 15 0 B) 17 :
(C) 14 ;:E (D) 13 ;
(E) Question not ‘:!:t_gcll‘lpted / ?ﬂﬁﬁﬂﬂﬂ
100 Shri Lal Joshi, Phad artist, belongs to which place in Rajasthan? ‘.-‘l_'
(A)  Jaipur O (B) Sikar .
(© Churu " (D) Bhilwara ?
(E) Question not tsempted ¥

g TR 2t Sret SEl TS % o v & wwefi £

(A) SER O (B) HiEt {=
© = H | @f seEEr v
(E) :ﬂgﬂﬁﬁw
101 Who can remove thg-({jwemnr of a State? (Choose the most appropriate optmn from below:)
(A) Chief Minister (B) President <
(C) Prime Minist%} (D)  Chief Justice of qula

(E) Question not Ets‘cmpted

T4 & ST I et Gehal 22 (Freferfas 3 @ g=d fapea =)
(A) et 0 s:B’r‘ egafy P~
(€©) vwurEft v

: (D) WITE % T&T =TT
() omafmwa b

102 On 2™ Ocmber 15:'!5‘-i who inaugurated the modern three tier system nffPanchayun Raj in the Nagour
(Rajasthan). &
(A) Mahatma Gatighi (B) Jawahar Lal Nebhi
(C)  Sarojini Naidﬂ"‘f, (D) Lal Bahadur Shasti
(E) Question not attempted
o 2 st 195&ﬁwmﬁmwﬁmﬁﬁ$ﬁmﬁqmwmﬁﬂrw
(A) WERHITIHT <) waTe e
(C) wiforftamag ™ (D) ﬁﬁraﬁ@tw
(E) srafaua o
103 The idea of “Welfare State’ in the Indian Constitution is enshrined in its <
(A) Funaamenmliguyus (B) Preamble A

(C) Seventh Scheﬂl&lc

(D) Directive Princiws of State Policy
(E) Question not atfempted

Fl

TR wiferam # “FEETER e a5 Rra # ffea & t‘r:
(A) vitferes aafaem (B) wEATET —
© megEh O [ T B e

(E) i 74
SI71 g 22 [ PT.O.
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105

what is Himalayan yew (Taxus Wallichiana)?

(A) Atype of soil which is found in Himalayan re
B) A folk song of Himachal Pradesh

© A Medicinal tree

(D) Atype of Tribe

(E) Question not attempted

gion

femrer 9 (309 Afferteam) 71 &7

(A T 6 o ST S ey e # v s 2 (B) femrerer wiar 1 ug S
(€ A IE (D) ST T U Tl
(B) TeRa A ' -
The river of Rajasthan that drains into Arabian Sea is.

(A) Banas (B) Chambal

(C) Kantali (D) Luni

(E) Question not attempted

TSI T T8 TEY S 3T e it

(A) = (B) vl

(C) st . Py <

(E) Iaf@uy

Which one of the following rivers flows in a rift-valley?

(A) The Narmada (B) The Ravi

(C) The Gandak ~ (D) The Yamuna

(E) 'Question not attempted

Frerferfias % & i oft =t fonstor-ord) # wedt 22

(a) e (B) Tt

©) e oy F

(E) sruf@ay

Choose the most appraprime option to fill in the blank:
Aditi has been working here :
(A) " six months ago )

M for six months W

(E) Question not attempted

six months before
since six months

Choose the most appropriate passive form of the word: ‘declare” to fill in the blank.

The old houses in town
(A)  are declaring

©)  declare (D)
®)  Question not attempted

Choose the mosy appropriate option 10 fill in tl
~—___ postman’s little boy said that he'd rather be

1e blanks:

e dentists don't get called DUW night, X ¢

(D)

23

unsafe by the authorities,

have been declareq

declared

dentist thap,

» the, the, a, x

X 4, a, a, the

e e e e et

e
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110

111

46,48 3¢ + 1, 4x+3,105, 11 0
The numbers 24, 34,‘ ” i S L 0, 114, 123 are written in ascending order and the meg
.77, The value of ¥ 5t L[} L)
e 24,3446 48{:&“ 4x+3,105, 110, 114, lzaﬁmm{mﬁﬁﬁmm%ﬁw
FyF A R
o 77 %, o xm/zs . 1
(A) 22 [-4-. P
(C) 30 (D) 20 vl

(E) Question not attemptcd / aﬂﬁﬁﬁ sy

There is 50% increase in an amount of money in 5 years, at simple interest. WPft will be the compo
interest on ¥ 15,000 after 3 years at the same rate?

<
wn&ﬁﬁmﬁﬁ.jﬂﬁmm% <zt s il F 50% o afi At 1 e ETE T 15,000 7

3 g ST = T m e
(A) T4,800 (B) < 4,900 1{3
_(or”%4,965 (D) 4,960 (~
(E) Question not atternp[\d / alﬂ?l‘ﬁ?l g gl
To boost economy and gettmg State Government approvals Rajasthan Micro, Small and Medium Enterpri:
(Facilitation of Estabhshme\_.t)and Enforcement Amendment Act, 2023) has increased the period of exempti
to MSME from: =t =
(A) 2yearstod4years L} " (B) 4 yearsto5 years MJ‘!
(C) 3 yearsto5 years < (D) 3 years to 4 years :?)

(E) Question not attempt -

mﬂmﬁﬁt@mﬁm%ﬁ%%ﬁmm agaﬂtmm(wmmaﬂtmﬁ?
FetE wite sfufEm, 2023)7 o T T § (MSME) 3 9 i s7afy sgr & 8-

A) 2@4ad ®) 4@s5ad
(© 3%s5ad W M 3g4ad l‘ﬂ
(E) rgafaws i :td;
113 The Rajasthan Panchayti R'j)Act (RPRA) came into force from: it
(A)  April 1992 ! (B) January 1992 W
(©)  April 1994 3 (D) January 1994 v
(E)  Question not attempted C
ST St O sl (ermdteTm) AT EA r—l
(A) 379 1992 (B) SHail 1992 Ve
31U 1994 0 | (D) SFadt 1994 ft
(E) rafawg Ly
114 Integrated circuits (ICs) ﬂrﬁﬁ]at&d to which generation of computers? e
(A)  Second Generation £ (B) Third Generation ‘.!.'2;
(C) Fourth Generatiop 4 (D) First Generation ;:..
(B)  Question not altempE v
e i (1Cs) oy st 35 v o 27
(A)  faeftr s - B) T Eeteic
4 "f?/ =g s (D) WuH SHEA
e E) sqafayy [0/ Il 0
<t 24 oo 7150 e G
lo |t '



tion
A H 1 3 L] 5 l (Jrﬂ-
(15 which of 1:h.e following is tlic transistor’s capacity of the first microprocessor produccd by Int€
(A) 1800 ) 2300
© 2700 (D) 1700
(E) Question fdtattempted / TFafea war -
=
16 Which of the fnll’mfmg command of excel will take you to the next wdfﬁbmk window?
@Hﬂﬁﬁﬁﬂﬁmmmmaﬁmﬁ@qém ‘IJ
(A) Ctl+ Page (B) Crl +Shift +-6 / Tab
() Ctrl +F6 .{;’I‘ah JB)/ F6 / Shift +%.
- \f'# ‘-1
(E) Question ot attempted / STITI S
. ‘o : ; : ‘s gth from the right
{17 Some girls are standing in a queue. If Kavita who is 1 1th from the left end and Babita who 1S
end interchange \Lg?ir positions, Kavita becomes 15 from the left chid How many girls are there in the
queue? 1y 2 < .
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